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ecl-es-halt(es;z)
=4et eclind(z;k,test.An,eq,eq. if n=20—
€y =
first e > eq.kind(e) = k & test((state when e),val(e))
else False fi;a,b,ha,hb.An,eq,es. if n=90— False
else ha(n,eq,ez) fi
V Je€(eq,ez].ha(0,e1,pred(e)) & hb(n,e,es);a,b,ha,hb.Aneq,es.
if n=90— ha(0,e1,e2) & Je€ley,e2].hb(0,e1,e) V hb(0,e1,e2) & Je€ler,ez].ha(0,e1,e)
else ha(n,e1,e2)
& Vmeo0.ecl-ex(b).if n<om— Ve€ley,ea).~hb(m,eq,e) else Ve€ley,es].~hb(m,eq,e) fi
V hb(n,eq,e2)
& VYmeO0.ecl-ex(a).
if n<ogm— Ve€ley,ez).mha(m,eq,e)
else Ve€ley,ez].mha(m,ey,e) fi fi;a,b,ha,hb.An,eq,es. ha(n,eq,ez)
& Vme0.ecl-ex(b).if n<om— Ve€ley,ea).mhb(m,eq,e) else Ve€ley,es].~hb(m,eq,e) fi
V hb(n,eq,e2)
& Vmeo0.ecl-ex(a).
if n<om— Ve€ley,ea).—ha(m,eq,e) else Ye€ley,ea].~ha(m,eq,e) fi;a,ha.An,eq,es.
if n=90— False
else [eq;ea]~([z,y].ha(0,z,y))*[z,y].ha(n,z,y) fi;a,m,ha.ha;a,m,ha.dn.eq,es.
if n=90— False else ha(n,e1,e2) fi
V if n=9m— ha(0,e1,e2) else False fi;a,l,ha. n,eq,ea. ha(n,eq,es) & —(n € 1)
V if n=90— (Imel.ha(m,eq,e2)) else False fi)

clarification:

ecl-es-halt(es;z)
=qet eclind(x;k,test.An,eq,eq. if n=20—
es-first-since(es;e.es-kind(es; €) = k € Knd
& test(es-state-when(es;e),es-val(es; €));e1;ez)
else False fi;a,b,ha,hb.An,eq,es. if n=90— False
else ha(n,eq,ez) fi
V existse-between3(es;eq;eq;e.ha(0,eq,es-pred(es; €))
& hb(n,e,es));a,b,ha,hb. An,eq,es.
if n:20—>
ha(0,e1,e2) & existse-between2(es;eq;eq;e.hb(0,e1,e))
V hb(0,e1,e2) & existse-between2(es;es;es;e.ha(0,e1,e))
else ha(n,eq,e2)
& Vme0.ecl-ex(b).
if n<om— alle-betweenl(es;eq;eq;e.—hb(m,eq,e))
else alle-between2(es;eq;eq;e.—hb(m,eq,e)) fi
V hb(n,e1,e2)



& ¥meO.ecl-ex(a).
if n<om— alle-betweenl(es;er;ea;e.mha(m,eq,e))
else alle-between2(es;eq;eq;e.mha(m,er,e)) fi fiza,b,ha,hb.An.er,es. ha
(n
€1
2)
& Vme0.ecl-ex(b).
if n<om— alle-betweenl(es;eq;ea;e.mhb(m,eq,e))
else alle-between2(es;eq;ea;e.mhb(m,eq,e)) fi
V hb(n,eq,e2)
& Vme0.ecl-ex(a).
if n<om— alle-betweenl(es;eq;eq;e.mha(m,eq,e))
else alle-between2(es;eq;eq;e.mha(m,eq,e)) fi;a,ha.An,eq,es.
if n=50— False
else es-pstar-q(es;x,y.ha(0,x,y);x,y.ha(n,z,y);e1;e2) fi;a,m,ha.ha;a,m,ha.An,eq,es.
if n=90— False else ha(n,e1,e2) fi
V if n=9m— ha(0,e1,e3) else False fi;a,l,ha.An,e1,es. ha(n,ei,e2) & —(n € 1 € N)
V if n=90— lexists(l;N;m.ha(m,e1,e2)) else False fi)
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